How is my Extended Essay marked?

Of the 30 marks awarded for the Extended Essay:

12 are awarded for Knowledge and Understanding, 
12 for Argument and Evaluation and 
6 for Structure.
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Knowledge [KU] (up to 12 marks, based on valid points)

Please look at the SQA website to see a more detailed breakdown on how the marks are allocated.

Knowledge

Marks for Knowledge (KU) are awarded for each recognisable and relevant point, up to a maximum of 12 marks. Points that are 

developed may be credited with 2 marks.

Examples of KU

Britain 1850-1979
“The Liberal government introduced a pension to the old in 1908. They received 5 shillings a week if they had an income of £21 a year. Married couples received 37.5 shillings a week, those who earned more than £21 a year received less money and those who earned £31.50 a year received no pension. People who were disqualified from a pension were people who had avoided work, had criminal records or had been habitually drunk. They would only receive the pension when they reached the age of 70”.

The Growth of Nationalism/Germany

The economic recovery after 1933 and the creation of around six million jobs was vital in attracting working class support to the Nazi regime. Thousands of workers found employment in the public works schemes, labour service or, after 1935, in the army. There was an increased number of training schemes for the unskilled and apprenticeships for working class school leavers. The Nazi regime also provided 60 000 new housing units for workers and doubled the number of paid holidays.

Structure

The Introduction

Example One

Extended Essay Question

With what justification can the Labour Party claim to have established a welfare state between 1945-1951?

Between 1945-1951, the Labour Government, led by Clement Attlee, passed a series of social reforms attempting to deal with the “Five Giants”, of Want, Disease, Ignorance, Squalor and Idleness as 

identified in the Beveridge Report of 1942.  It was hoped that through State intervention, the problems of poverty in Britain could be eradicated. However there is much historical debate surrounding the creation of the welfare state. Some historians, such as David Dutton, believe that “The major achievement of the Labour Party after 1945 was to complete and consolidate the work of the wartime coalition”, whilst others, such as Arthur Marwick, are of the opinion that “There forms were not simply the inevitable response that any government would have made to the historical circumstances of 1945”.  It could be said that the foundations of intent and finance with regard to the post war welfare state had already been laid courtesy of the Liberal Reforms of 1906-1911. The Second World War is also thought to have played a role in shaping public opinion and political attitudes although the consensus 

theory is currently under question. Although Churchill’s lack of 

commitment to the Beveridge Report appears to show that Labour were more likely to create a post war welfare state, the similarities between the manifestoes of the Conservative and Labour parties in 1945 appear to show that both parties were committed to creating some form of welfare state. It could therefore be said that the creation of some form of welfare state was inevitable, whether it was the Labour Party or the Conservative Party in office in 1945.

This is a good example of an introduction because

· It establishes the context and sets the issue in its wider context.

· It establishes a coherent line of argument (and shows an awareness of different interpretations).

· It is clearly identifiable and is substantial.

Structure

The Introduction

Example One

Extended Essay Question

To what extent was the Labour Party responsible for creating the Welfare State?

The creation of a welfare state between 1945 and 1951, which 

provided for the British people ‘from the cradle to the grave’, is seen by many as the greatest achievement of the Labour government. How accurate is such a verdict?. It is certainly true, as indicated by Jack Watson, that “By 1951, more radical changes had been made within a mere seven years than ever before, and Britain had become a state which cared for its people’s welfare to an extent which few other countries could equal”. Yet , can such an outcome be seen solely in terms of the legislation enacted by Attlee’s government, or must other factors be taken into account, such as the Liberal reforms of 1906-1914, the irregular advances of the inter-war period, the Beveridge report and the catalytic effect for changes that came with the Second World War? In analysing the reasons for the coming of the welfare state, one must initially give some credit to the Liberal Reforms, for they marked an end to the principles of laissez-faire and created a framework for future welfare provision. Historians have recognised the link between the Liberal Reforms of 1906-1914 and Labour’s welfare reforms 

between 1945-51. As Pope said “The social reforms in education, health care, income maintenance and even unemployment policy drew heavily on earlier ideas”.
This is a good example of an introduction because

· It sets the question in its wider context.

· It establishes a clear line of argument (and shows an 


awareness of different interpretations).

· It outlines a range of relevant factors to be developed.

· It is clearly identifiable and is substantial.
Structure

The Conclusion

Example One

Extended Essay Question

To what extent does Bismarck deserve his reputation as the man who united Germany?

Historians have argued over whether Bismarck planned the sequence of events which were to lead to the unification of Germany. Bismarck himself stated that he planned unification however unlikely this may be. However it is widely recognised that a number of factors contributed to unification such as nationalism which stirred up feelings of unity within the German states.  Bismarck certainly stimulated nationalist feelings in 1870-71. The Prussian Zollverein also contributed to the unification of Germany in 1871. It was a first step towards unification and unified the states economically without the help of Bismarck. The Zollverein therefore played a very important role in the unification of Germany. The decline of Austria because she was excluded from the Zollverein, aided the increase in importance of Prussia which was another step towards unification, again out with Bismarck’s control. Furthermore, the army reforms meant that Prussia could defeat any army which meant they won the wars of unification with Denmark, Austria and France. The reforms also resulted in the appointment of Bismarck who exploited situations which made these wars inevitable. The mistakes of other countries also gave Bismarck the opportunity to wage war which in turn led to unification. On the other hand, Bismarck deserves his reputation as the man who united Germany because he cleverly exploited situations and accelerated the unification process. Germany may have eventually become unified due to the Zollverein, the decline of Austria and the growth of nationalism but Bismarck, the expert opportunist brought about the unification of Germany in a much shorter time. 
He cleverly used situations to Prussia’s advantage which resulted in unification therefore the evidence suggests Bismarck deserves his reputation as the man who united Germany.

This is a good example of a conclusion because

· It is directly related to the question.

· It is clear and balanced.

· It summarises the arguments and evidence presented in the development/middle part of the essay.

· It comes to an overall judgement.

Structure

The Conclusion

Example One

Extended Essay Question

How successful were the Liberal reforms (1906-1914) in meeting the needs of the British people?

In conclusion, the Liberal reforms did have some success in meeting the needs of the British people. The Liberals helped the Old by providing a pension. However Rowntree, in his study of poverty in York calculated a poverty line of 35 pence a week whereas the allowance provided by the Old Age Pensions Act was a mere 25 pence therefore while Old Age Pensions helped the elderly poor, the pensions did not solve the problem of old age poverty.  The provision of free school meals for poor children was a success since evidence suggested that children gained weight and growth during the school term unlike during school holidays when their weight tended to fall.  However school medical inspections were only a 

success after 1912 when free medical treatment became available. The Labour Exchanges created by the Liberals were also a success since it was now much easier for unemployed people to find out what jobs were available. The benefits given to unemployed workers were a help through hard times, although the provisions were only meant to cover temporary unemployment and only applied to seven trades. The National Insurance Act of 1911, which also dealt with health, was arguably the Liberals most important reform since there was no free National Health Service along with the fact that illness was one of the major causes of poverty. This act provided an insured ‘sick worker’ with ‘ninepence for fourpence’, however, only the insured worker received free medical treatment from a doctor. Other family members did not benefit from the scheme.
To sum up the Liberals did bring some success to improving the lives of British people. However, on the whole, the Liberal reforms were limited and ultimately failed to deal adequately with the social problems and needs of the people at the turn of the century.

This is a good example of a conclusion because

· It summarises the arguments made in the main section of the essay.

· It is balanced-It summarises the strengths and weaknesses of the reforms.

· It comes to an overall judgement about the extent to which the reforms dealt with the needs of the British people.

